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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10 |
oo frarTRe et S Tes fio

(@) Why is ‘gross domestic product’ not
considered to be an adequate meagure
of economic development?

T TR TATH'T R AT T oS
IR SoRS SR Ifer sie a1 712y 2
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(b)

(©

(2)

What does the life expectancy at birth
indicate?

Blea erentire ST 6 T8 2

Choose the correct one to fill in the
blank :

brings out the Human
Development Report for the member
countries of the United Nations.

( World Bank, IMF, UNDP )
% Taacer 1 SRR @ 1R ™I T
R oy NFHR A T4 S AT
2] 34T FEICO! (2% |
(Y @5e, iR 9. 9%, T, @1, fS. 171, )

(g)

(h)

(3)

Write True or False :

The main cause of backwardness and
regional disparities has been the weak
backwash effect and strong spread
effect.

9] (F =79 e

SFEPREl W SR (R e IR R
Ve PRIl S e SRR |

Who propounded the ‘cumulative
causation’ theory of development?

TR ‘cumulative causation’ $EC0
I g I} Sfemizfe ¢

() What is the basic strategy of the theory
fb ?

(d) What is the meanlng of ‘stationary state’ o alanced gl'owth
of an economy? ¥ SARICHIE 9
S2AfS g3a 7R Bfo'T 5 62 .

() Fill in the blank :

(e) Give the meaning of capital-output According to Prof. Hirschman,
ratio. | development_ can take place only by
TG eATH ST w72l BT | . the economy.

| &N 91 o[ 1 :

() What does K refer in equations used by ST RECER TS S TR
Domar in his growth model? | TR Ted = |
T o Hfa We IRE |
AR K4 94 52
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2. Answer the following questions :

(4)

Sofq 2 eq o

(@

(b)

(©

(@)

(e)

A7/946

Mention any two limitations of per
capita income as a measure of economic
development.

G S aeR Sifzen e e
e R @ 3o SHRmel SeEy 141 |

State the two indicators used to

calculate education index in preparing
human development index.

TR T e a¥fed I B P T
R I72R T (0= 701 Teay 41 |

What is warranted growth rate of
Harrod model?

- ('T W% W T 29 62
What is the social overhead capital?
IS o Jeee ST 1 ?
State two assumptions made by

Prof. Lewis about the traditional sector
of a dual economy.
ST T2 Gl (7 HYAY AR CFADBR
AR R T o1 o o

2x5=10

3.

(S)

Answer any four of the following questions :

5x4=20

o9 2R R e vifReE ey fore -

(@) Describe the dimensions of HDI.

(b)

(©)

(d)

(e)

(Continued) |A7/946

perract g

HDI-3 J@IAR 391 47 |

Explain the role of technical progress in
the growth process.

TR elfepre R e S i <=4 |

Bring out the relevance of the classical
growth model in today’s world.

Tefos e Tmr soM wifte it
5[ <541 1

State the central theme of
Harrod-Domar model of growth.

RIUC-SIR TR WA 171 R Seapsy <47 |

Describe how Gunnar Myrdal explains
the backwash effect in regards to under
development.

wﬁﬁamﬁmwﬁw
=01 FHCT STRCR, ST <

Describe Hirschman’s idea of self-
reliance in the context of unbalanced

growth theory.
RS THE O9R iFe bR We-
SIMeToR YR 31 <51 |

the
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(6)

4. Answer any four of the following questions :

10x4=40

o 2P R @ie wifReR Tel s

(a)

(b)

()

(d)

not mere growth.
multidimensional

“Development is
Rather, it is a
concept.” Explain.
TR @9 R a8 | [WE R =R
G IRANGS 4 1”7 00 390

Describe the obstacles to economic
development in developing countries.
SeE e A S SHE
AP 31 T |

In the context of Adam Smith’s theory of
development, explain the concepts of
(i) division of labour and (i) role of
capital accumulation.

SME g Sage ogd Ao (i) ¥9 [

SF (i) Yo @S SR A= L@l
<AT=0T F#41 |

between
economic

relationship
growth and

Explain
Population
growth.
Ao Tmgma oe GPRAl e TR
QAT <41 1

the

(e)

(7)

Give a critical appraisal of Arthur
’Lewis’s theory of unlimited supply of
labour.

IR B oW R @ senR
STAICETSAEE W+ e 31 |

Elaborate the concept of vicious circle of
poverty as developed by Prof. Ragnar
Nurkse.

SIF @ER A SRR MRTeN -5
HIREICOT IR for |

* & A
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